GRADE 9 — Order of Operations Practice

Evaluate the following:

a) 10-6)x(3+12+2) b) (*>-1)+5x12 ¢)
d) (F+2°+3)+2° e) 6x5-(12-4)+2 f)
g) 3(6-1)+5+4-1 h) 6°+(9+3%)-1 i)
. e 1 5x11+40+8

i) 12+46+6 3+2x4+(20f24) K 21440 )
m) [22-3x5+9-6x2]+2+13  n) 5(7+3)lof8)-7x6 0)
p) (32+33)+(1+23J q) %+52+2(5—1) r)

54+9 2743 . 13x3 C704+2+3) .,

D Fx2 *5x3 T 62 O M-t "
Which is larger?

a) 1°+2°+3% or (1+2+3) b) 3*-2° or 3-2) )

Place brackets in each of the following in order to make the statement correct:

a) 20-8+2° =8 b) 49-32+8-3"=36 ¢) 3x3-3"+5=41
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12x6+3x2+12
2x4* -5x2+15

410-4x1]+3

17x4-2°
37 +1
320+ [(18-2)x2 20+ 4
1743, 186
20+2 " 2x3-5
7+2@x3-1+1°+1")
7-2(3°-3*-5x3)

10> or 2"

d) 3x2°-4=32

Evaluate the following:

a) (10-6)x(3+12+2) b) (*>-1)+5x12 ¢)
d) (F+2°+3)+2° e) 6x5-(12-4)+2 f)
g) 36-1)+5+4-1 h) 6 +(+3%)-1 i)
. e 1 5x11+40+8

i) 12+46+6 3+2x4+(20f24) K 21440 )
m) [22-3x5+9-6x2]+2+13  n) 5(7+3)lof8)-7x6 0)
p) (32+33)+(1+23J q) %+52+2(5—1) r)

5429 27+3 . 13x3 C7(14+2+3) .,

D 3x2 *5x3 T 62 O M-t "
Which is larger?

a) 1°+2°+3% or (1+2+3) b) 3*-2° or 3-2) )

Place brackets in each of the following in order to make the statement correct:

a) 20-8+2° =8 b) 49-32+8-3"=36 ¢) 3x3-3’+5=41

12x6+3x2+12
2x4* -5x2+15

4[10-4x1]+3

17x4-2°
3% +1
320+ [(18-2)x2 20+ 4
1743, 186
20+2 " 2x3-5
7+2@x3-1+1°+1")
7-2(3°-3*-5x%3)

10> or 2"

d) 3x2°-4=32



